nanosecond

616058 s: Mdev= 0.94621E-14 Tdev= 3366 ps
308029 s: Mdev= 0.12821E-13 Tdev= 2280 ps
154014 s: Mdev= 0.16161E-13 Tdev= 1437 ps
77007 s: Mdev= 0.19333E-13 Tdev= 860 ps
- 38504 s: Mdev= 0.27364E-13 Tdev= 608 ps
08/06/15 nxraigrt57197_40.ppp_defaut+5d-15 19752 o Mdov 0. 35430E13 Tdov= 394 pe
9626 s: Mdev= 0.47889E-13 Tdev= 266 ps
4813 s: Mdev= 0.67468E-13 Tdev= 187 ps
2406 s: Mdev= 0.99319E-13 Tdev= 138 ps
1203 s: Mdev= 0.14254E-12 Tdev= 99 ps
602 s: Mdev= 0.21570E-12 Tdev= 75 ps
301 s: Mdev= 0.39116E-12 Tdev= 68 ps
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